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QUESTION 1

You execute transaction Transport Management System (STMS) and switch to the import queue of an SAP system of
the transport domain. Here you find that the Import All Requests button is missing but the Import Request button is
available (see attached screenshot). 

What is the most likely reason for this behavior? 

A. The transport strategy for the PSM system is set to Single Transports. 

B. There is no consolidation route pointing to the PSM system. 

C. PSM is a virtual system. 

D. There is no transport request waiting to be imported into this system. 

Correct Answer: A 

 

QUESTION 2

Using SAPDOCCD.ini, you have several options for changing the way online documentation is accessed. Which of the
following statements are true? (Choose three.) 

A. You can change the access path to online documentation, depending on the user ID (in the SAP system) of the user
calling help. 

B. You can change the access path to online documentation, depending on the logon language (in the SAP system) of
the user calling help. 

C. You can change the access path to online documentation, depending on the release of the SAP system from which
help is being called. 

D. You can change the access path to online documentation, depending on the SID (System ID) of the SAP system
from which help is being called. 
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Correct Answer: BCD 

 

QUESTION 3

Which data sources are supported by the User Management Engine (UME) of AS Java? (Choose three.) 

A. A UDDI provider 

B. The database of the AS Java 

C. A client of an AS ABAP based SAP system 

D. A directory server (LDAP) 

E. A file (also called secure store) 

Correct Answer: BCD 

 

QUESTION 4

Oracle database release 10g is able to use new database statistic features for tables and index. Which statement
regarding CBO (Cost-based optimizer) and RBO (Rule-based optimizer) is true? (Choose three.) 

A. In Oracle 10g, both CBO- and RBO-based index statistics can be used simultaneously. 

B. Database statistics can be managed automatically in Oracle 10g. This is implemented in the database as the
dbms_scheduler job GATHER_STATS_JOB. However, this method is not yet supported and is deactivated to avoid
conflicts with the brconnect methods. 

C. Oracle 10g only supports CBO, while the RBO is not supported anymore. 

D. As of Oracle 10g, you are required to create statistics for the Oracle dictionary as well. 

Correct Answer: BCD 

 

QUESTION 5

Which of the following statements is correct with regard to the OPS$connect connect mechanism? (Choose two.) 

A. OPS$connect authorization is required for all users connecting to the Oracle database. 

B. OPS$connect enables the R/3 saposcol process to communicate and exchange data with the Oracle database. 

C. OPS$connect is an Oracle command enabling whoever executes it to administer the database without using the
oracle tool SQL*Plus. 

D. BR*Tools use the OPS$connect by default to connect to the database. 

E. OPS$connect authorization allows an operating system user to connect to the database without being prompted for a
password. 
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Correct Answer: DE 

 

QUESTION 6

You have installed an SAP system based on AS ABAP+Java (dual stack). The default UME configuration was not
changed. 

Which relationships exist between ABAP and Java authorization concepts? (Choose two) 

A. The assignment of ABAP users to ABAP groups appears as the assignment of UME users to UME roles. 

B. ABAP roles appear as UME groups. 

C. ABAP authorization profiles appear as UME security roles. 

D. The assignment of ABAP users to ABAP roles appears as the assignment of UME users to UME groups. 

Correct Answer: BD 

 

QUESTION 7

When using the transaction SCU0 (Cross-System Viewer) and the transaction SM30 (Maintain Table Views) to compare
clients, which of the following statements are correct? (Choose three.) 

A. Table content can be compared between SAP R/2 and SAP ECC Systems. 

B. Customizing data can be adjusted across clients using transaction SM30 (Maintain Table Views). 

C. Table content can be compared between different clients in different SAP Systems. 

D. Table content can be compared between different clients in the same SAP System. 

E. Table content can only be compared directly on the database level. 

Correct Answer: BCD 

 

QUESTION 8

To avoid that passwords have to be entered interactively or appear on the command line, BRTools normally use the
OPS user to connect to the database. 

A. Incorrect 

B. Correct 

Correct Answer: A 

 

QUESTION 9
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When installing an SAP ECC system (leaving all settings at default), which of the following ports are used? (Choose
two) 

A. Port 33$$ for communication with the ABAP message server, where $$ stands for the central instance number. 

B. Port 5$$00 for HTTP communication with the Internet Communication Manager (ICM), where $ $ stands for the
instance number. 

C. Port 32$$ for communication with the ABAP dispatcher, where $$ stands for the instance number. 

D. Port 36$$ for communication with the ABAP message server, where $$ stands for the central instance number. 

Correct Answer: CD 

 

QUESTION 10

You are running an AS ABAP-based SAP system consisting of a central instance and one dialog instance. Where does
an RFC gateway run? 

A. As part of the ABAP dispatcher 

B. On both instances 

C. As part of the Internet Communication Manager (ICM) 

D. Only on the central instance 

Correct Answer: B 

 

QUESTION 11

Which of these statements regarding clients in ABAP-based SAP Systems are true? (Choose two.) 

A. Although the system change options (transaction SE06) are set to \\'modifiable\\', you can restrict changes to
repository objects by the client change options (transaction SCC4). 

B. You should not allow the changing of the cross-client customizing from within a sandbox client on the development
system. 

C. If the system change options (transaction SE06) are set to \\'not modifiable\\', but the client change options
(transaction SCC4) are set to \\'changes to repository allowed\\', you can change repository objects from within this
client. 

D. There cannot be more clients in a development system than in a productive system, on the same system landscape. 

E. If you want to use more than one productive client in a productive system, you have to switch to the extended
transport control. 

Correct Answer: AB 

 

QUESTION 12
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For UNDO tablespaces, which of the following statements are true? (Choose two.) 

A. The UNDO tablespace MUST be a dictionary managed tablespace. 

B. Undo segments are overwritten first after undo retention time. 

C. To avoid a tablespace overflow, the UNDO tablespace can be set to be autoextensible. 

D. Transformation of rollback- to undo tablespace can be performed with BRSPACE in a one-step procedure. 

E. Storage parameters of all undo segments should be equal. 

Correct Answer: BC 

 

QUESTION 13

You want to use the Change and Transport System (CTS) to perform transports of non-ABAP objects into non-ABAP
systems. Which configuration settings are necessary for this? (Choose three.) 

A. The CTS Deploy Web Service must be configured. 

B. You must use client-dependent transport routes for all systems in your transport domain. 

C. The transport domain controller system must be based on SAP NetWeaver AS 7.00 SP Stack 12 or higher. 

D. You need to adjust certain tp parameters for the non-ABAP systems in question. 

Correct Answer: ACD 

 

QUESTION 14

Which of the following statements is correct regarding transport domains and transport groups in ABAP-based SAP
Systems? (Choose two.) 

A. All SAP Systems within one transport group have a common transport directory. 

B. A transport domain consists of the client-independent table TDOM (the transport domain table), into which all
transports (exports or imports) in the SAP System are logged. 

C. All SAP Systems in a transport domain must belong to the same transport group. 

D. A transport domain can only be set up if more than one application server is installed. 

E. All SAP Systems within one transport domain have RFC destinations (names beginning with "TMS...") pointing to the
same transport domain controller system. 

Correct Answer: AE 

 

QUESTION 15

You are running an AS ABAP-based SAP system. 
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How can you determine the current Support Package level of all ABAP software components? (Choose two) 

A. Choose "System -> Status -> Component information". 

B. Use transaction SPAM (Support Package Manager). 

C. Run the report "RSPFPAR". 

D. Launch the ICF path "/sap/bc/icf/info" in a Web browser. 

E. Depending on the operating system, use the "disp+work -v" or "dw -v" command. 

Correct Answer: AB 
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